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1. (-6X-3X-6) =
() (-6)4x(-3)°x(-6)° (i) (-6)*x(-3)3x(-6)3 (i) (-6)*x(-6)*x(-8)* (iv) (-6)*x(-3)7 x(-3)*

(v) (-6)*x(-3)%x(-6)%

-3 7 9
2 ((-8)><-2) =
9 9 9 9 9 10 9 8 9 9
0 (T)x(5) @ () x(2) @ (D) x(2) (D) x(3) @ (T)x(3)

2 9/5
4. (— xX(—2)) =
(11/5) (9/5) (9/5) 5
B, B2 € ) IR 0 R
(M (7) x(g) (i) (7 x(g) (i) (7 X(E) (iv) (7 x(-g)
(9/7)
(2)

5. Simplify the expression 59 X 59 X 59

() 528 (i) 528 (i) 827 (iv) 327 (v) 527

6. Simplify the expression 776 %76

i 7712 Giy 713 iy 7711 vy 1012 (v) 4712



7. Simplify the expression(-7)3 X (-7)3

i) 7% iy 17 i) 5° (v) 12 v) (-9)°

8. Simplify the expression(-2)'8 X (—2)'8 X (-2)'8

9. Simplify the expression ( 2 ) X (-3 )

10.

11.

12.
13.
14.

15.

() (22 (i) 4)72% i) 2723 (v (272% W 1

-3 -3

Simplify the expression ( -_25 ) X ( '_; )

Simplify the expression ( -_;3 ) X ( 5 )

-10 -10 -11 -10 -9

0 () W (3) G (3) m () W (3)

Simplify the expression 76 x 76

i) 412 iy 713 i) 1012 vy 712 (v) 711

5 -5

Simplify the expression6™~ X 6> %6

i 6718 iy 871 i) 6712 (iv) 6714 (v) 4715

Simplify the expression (-7)2 X (-7)°

7 7

M 18 ) 1007 iy -0° (v 47 W 7’

Simplify the expression (-6)'4 X (-6)'6

M 6)10 (i) 9710 iy 6) 1L (iv) (410 (v) (-6)°



5 7

16. Simplify the expression ( Z ) x( Z )

19. Simplify the expression (-4)'4 X (-4)

M) 08 i) 28 i) (4"
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